SAP ABAP table CRMT BUS EI SET10 DATA {External Interface: Set 10, Data}

CRMT BUS EI SET10 DATA-PAY GUAR PROC = COMC _CUSTPAYG-CUST PAY GUAR COMC_CUSTPAYG

.

_ - 0..N | CLIENT [CLNT (3)]

- CUST_PAY_GUAR [CHAR (4)]

-7 CRMC_CUSTGRP1
-~ CRMT BUS EI SET10 DATA-CUSTOMER GROUP1 = CRMC CUSTGRP1-CUST GROUP1 o 1 | CLIENT [CLNT (3)]
" [CUST_GROUP1 [CHAR (3)]

—_— -
—_—

T CRMC_CUSTGRP2
10.1¥ cRMT BUS EI SET10 DATA-CUSTOMER GROUP2 = CRMC_CUSTGRP2-CUST GROUP2 CLIENT [CLNT (3)]
______________________________ CUST_GROUP2 [CHAR (3)]

CRMT BUS EI SET10 DATA-CUSTOMER GROUP3 = CRMC CUSTGRP3-CUST GROUP3

__________________________________________ CRMC_CUSTGRP3

CRMT BUS_EI SET10 DATA-CUSTOMER GROUP4 = CRMC_CUSTGRP4-CUST GROUP4 0..N |CLIENT [CLNT (3)]
N CUST_GROUP3 [CHAR (3)]

‘‘‘‘‘ CRMC_CUSTGRP4

= — -

~._CRMT BUS EI SET10 DATA-CUSTOMER GROUP5 = CRMC CUSTGRP5-CUST GROUP5 0..N | CLIENT[CLNT (3)]
T~ CUST_GROUP4 [CHAR (3)]

T~ CRMC_CUSTGRPS5
ST - CLIENT [CLNT (3)]
CUST _GROUP5 [CHAR (3)]




